	
	9 points   
	Save   

	 
	A travel association says the daily lodging cost for a family traveling in California is the same as Florida. The daily lodging cost for 35 families traveling in California is $136 and standard deviation is $25. The daily lodging cost for 35 families traveling in Florida is $140 and the standard deviation is $30. Find critical number(s). At [image: image1.png]a=010
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  Question 16 
	9 points   
	Save   

	 
	Data sets A and B are dependent. Find the critical values to test the claim that[image: image13.png]


. Use [image: image14.png]a=010




A

7.7

8.9

10.8

7.8

7.9

B

5.1
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4.9

3.8

5.2
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  Question 17 
	9 points   
	Save   

	 
	Find the standardized test statistic to test the claim that [image: image26.png]B
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. The sample statistics listed below are from independent samples
Sample statistics:
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  Question 18 
	9 points   
	Save   

	 
	The data below are the number of absences and the final grades of 9 randomly selected students from a statistics class. Find the equation of the regression line for the given data. 

Number of absences, x

0

3

6

4

9

2

15

8

5

Final grade, y

99

89

78

85

73

98

45

76

82
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